Pre-Calculus A
Section 7.3 Even More Practice!
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4. An arcade in Lynchburg, Tennessee uses 3 different colored tokens for their game machines. For $20,
you can purchase any of the following mixtures of tokens: 14 gold, 20 silver, and 24 bronze; OR 20 gold,
15 silver, and 19 bronze; OR 30 gold, 5 silver, and 13 bronze. What is the monetary value of each token?
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¢mallest = X, wmddle: Y , \argest: 2

5. Atriangle has three angles {duh, Ms. R). The middle angle measures 5° more than twice the smallest

angle, and the largest angle measures 11° less than 3 times the measure of the smallest angle. Find the

measures of the three angles.
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4. Gold: $0.50, Silver: $0.35, Bronze: $0.25
5. Small: 31°, Middle: 67°, Large: 82°



